HITAI IR R T P = " A bR —/L R

H25.11.21 H PR
RR254FE12H 1H (R) B4+ WMEFRTHT = HEDARKRELE LRG3 = BIKEE A a—k AT—f ¥ X v F o FEHEESTOZENAH
(BRG] 8:30) (BRYGHEEM 8:30) B a—k AR ¥ a7 4 b BEEENEA(ARA)
TR25412H 8H (R) B+-&+ WMEF RGO ZEEHAREERE XINZLikERE C =—h de M) xR A BB EHEEEE KA 105
(BH3EMRR 8:30) D =—hk (F M) D o MAEE DOF — LY
WY HE FHBEMERLTTEEN,)
¥N—THA L (54y) OFEIZ1ATE TR % T O : MizxEbEHR LATF—LGET)
XEHTOIUT %\3}~—AF?% N * B & X E s JZIL  SHOHEli
X7V —F TOHBIZHONT B 9:10~ (12/01)
jﬁmﬁwﬁsoﬁir% %tAarf AJO*ML BEEBRAME = B9:30~+)I[2Z2i19:45
5 ” =3 ¥ 3T HEE Bl PR EHE &
c Ftvdyr B
(1 2H 18 éz%@*ﬁ ) % HEOM MR T — 2
c 7 A8 D 6 B 7 (B+0HE)
12 1 H i 1181 # 0 2 K
C6& ATE D5 & B6&
C 4 C 3 A6 Ab D 4 D 3 B 4
C 3 C 4 A5 A6 D 3 D 4 B 4 B 5
C38 C28 A5E AME D3 D2£& B4 B3& 12/8
— — — — = — = 12/1
2 Cl A2 Al D2 D1 B1 B2 A3 B3
9:45 9:30 9:45 9:30
Cl c2 Al A3 D1 D2 B3 Bl A2 B2
T/0 T/0 T/0 T/0
1 1 A& A3 DI& I B3 Bl1#& A2E B2#&
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 1 2 3 4 5 6
O O O O O O O O O O
Fut B BB =) L = ® »~ =+ i 4 B o E W JI 4 T 4#H K % i = ES I L T
. & B2 o
=] B B ) 4 v
b L B ox
oo koW A B 4 £ b # S DTN S 2SO | R S 3 D [ B < 5 7 o= F 0K
( HeE ik )
C6 A4 D5 B 6 AT
C4#& AR D4E& B5& AGE
C D A B C D A B
2 2 ! | | | 2 2 ‘; 1;
il il B il il il il il il il
% % % ¥ % % % % = #
(MEF R I ZTREE) (UET R 7 = Bl B ARG (MEF R I TREE) (UETRE 7 = Bl ARG I[E R G = Bl AR RS



FRL25FE12 8H (H) B+ WEp R iy = B Eh ARG EH

=

HITAE IR R AT TPI= ATy bR — /LR

H25.11.21 HEP#EERS
H ST NTOIT AV
BT BB/ NE (A6

ERRERL, A BAGIRF A I T 2 B D R DI
2 H ], FHRE L TTIEEN,
FA B R RITELM

2HTOIUL, KF—2EBIRHIL

K EBIRERE A a—k 27— ¥R T
(BR% B 8:30) B =—h A
K 2= TF— A
R A R
N—THAL (54Y) OFEIX1SBTETHHE ¥ 5 |
KTV —F COBE TR~ 9300 ETIIF2REDF — A,
9RF30~10RFE CEIRADOF—ABRFHE T ET, % T 0 :
(12H 8H 21 DE )
( 1~4fr PEHEE ) ( 5~8fir FEHE )
A 6 A b5
15:50 14:40
R AL
2 B 2 A 3 B 3
10 11:10 12:20 12:20
=1 Bl1& A2JB B2
& | 3 B | Il & |
Z
Z
1T
e E | JE Ed P4 | 2
B 6 B 5
15:50 14:40
2 L B1¥

( WMEBRE g = EED)

(127 8H ZHF0#)

O BN ERE )

A 4
13:30
A2H
A1 B 1
10:00 10:00
B &
Bl (& e
o7 | Ji Ji
B 4
13:30
B2#&




